
 1

ekWMy iz’u&i= lsV&II  

  
jlk;u foKku 

Subject- Chemistry 
Okkf"kZd baVjehfM,V ijh{kk&2014  

 

 

Time Allowed : 3 Hours 

Max. Marks -70 

 GENERAL INSTRUCTIONS :  

(i) All Questions are compulsory.  

 lHkh iz’u vfuok;Z gSA   

(ii) Marks for each question are indicated against it.   

 izR;sd iz’u ds lkeus vad n’kkZ,¡ x, gSaA   

(iii) Questions Number 1 to 8 are MCQ, Carrying 1 marks each  

 iz'u&la[;k 1 ls 8 rd oLrqfu"B iz’u gSA izR;sd iz’u ds fy, 1 vad 
gSA  

 

(iv) Questions 9 to 15 are very short answer questions carrying 1 marks each  

 iz'u&la[;k 9 ls 15 rd vfry?kq&mÙkjh; iz’u gSA izR;sd iz’u ds fy, 
1 vad gSA  

 

(v) Questions 16 to 23 are short answer questions carrying 2 marks each.  

 iz'u&la[;k 16 ls 23 y?kq&mÙkjh; iz’u gSA izR;sd iz’u ds fy, 2 vad 
gSA  

 

(vi) Questions 24 to 31 are also short answer questions carrying 3 marks 

each. 

 

 iz'u&la[;k 24 ls 31 Hkh y?kq&mÙkjh; iz’u gSA izR;sd iz’u ds fy, 3 
vad gSA  

 

(vii) Questions 32 to 34 are long answer questions carrying 5 marks each.  

 iz'u&la[;k 32 ls 34 nh?kZ&mÙkjh; iz’u gSA izR;sd iz’u ds fy, 5 vad 
gSA  

 

 MCQ (Multiple choice Questions) oLrqfu"B Á’u  

 fdlh ,d lgh fodYi dk pquko djsaA  

1. dk; dsafnzr ?kuh; (bcc) dksf’kdk ds ÁR;sd ,dd dksf’kdk esa ijek.kqvksa dh 

la[;k & 

Number of atom per unit cell is a body centered cube (bcc) is    

(i) 2 (ii) 4 (iii) 3 (iv) 6 

1 
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2. ijklj.k nkc fuHkZj djrk gS 

Osmotic  pressure depends on 

(i) ?kksy dk lkanz.k (Concentration of solution)  

(ii) rkiØe (Temperature) 

(iii) nksuks (Both)  (iv) dksbZ ugha (None) 

1 

3. dkSu lk lsy H2 vkSj O2 dh jklk;fud mtkZ dks lh/ks fo|qr mtkZ esa cny nsrk 

gS 

Which of the following cell directly converts the chemical energy of H2 and 

O2 into electrical energy 

(i) edZjh lsy (Mercury Cell) 

(ii) MSfu;y lsy (Daniel Cell) 

(iii) lhlk lapk;d lsy (Lead storage Battery) 

(iv) bZa/ku lsy (Fuel Cell) 

1 

4. ÁFke dksfV vfHkfØ;k ds fy, v/kZ vk;q vof/k fuHkZj djrk gS 

Half life period of a first order reaction depends on 

(i) mRÁsjd (Catalyst) 

(ii) rkieku (Temperature) 

(iii) vkjafHkd lknzrk (initial concentration) 

(iv) dksbZ ugha (None) 

1 

5. fVaMy ÁHkko fdlesa fn[ksxk 

Which will show tyndall effect. 

(i) foy;u (Solution) 

(ii) foyk;d (Solvent) 

(iii) vo{ksi (Precipitate) 

(iv) dksykbMh lksy (Colloidal sol ) 

1 

6. Ca
2+

 fdlds lkFk vkblksbysDVªkfud gS 

Ca 
2+

 is iso electronic with 

(i) Mg
2+ 

(ii) Kr (iii) Ar (iv) Na
+
 

 1 
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7. Ni(C0)4 esa Ni dh vkDlhdj.k la[;k gS 

Oxidation number of Ni is Ni(C0)4 is 

(i) 0 (ii) 1 (iii) 2 (iv) 4 

1 

8. R-X, AgCN ls ÁfrfØ;k dj cukrk gSA 

R-X reacts with AgCN to form 

(i) R- CN (ii) R-NC (iii) nksuksa (Both) (iv) dksbZ ugha (None)      

1 

9. C2H6O ds nks fØ;kRed leko;oksa ds uke rFkk lajpuk fy[ksaA 

Write down the name and structure of two functional isomers of C2H6O 

1 

10. Vksyu vfHkdeZd D;k gS\ 

What is tollens reagent. 

1 

11. lehdj.k dks iw.kZ djsaA 

Complete the equation CH3-CH2- CN 
LiAlH

4 

 

12. isIVkbM cU/k D;k gS\ 

What is peptide linkage? 

1 

13. ikWfy,LVj cgqyd dk ,d mnkgj.k nsaA 

Give one example of polyester polymer. 

1 

14. ,fLÁu dk lajpuk lq= fy[ksaA 

Write down the structural formula of Aspirin. 

1 

15. XeF4 v.kq dk vkdkj D;k gS\ 

What is the shape of XeF4 molecule. 

1 

16. fo|qr jlk;u lsy cuk,¡ ftlesa Zn(S) + 2Ag
+
 (aqu)              Zn

+2
(aqu) +2Ag(S) 

vfHkfØ;k gksrh gSA 

Write down the electrolytic cell in which the following reaction takes place  

Zn(S) + 2Ag
+
 (aqu)              Zn

+2
(aqu) +2Ag(S) 

2 

17. ÁR;sd dk ,d mnkgj.k nsaA 

(i) jksxk.kquk’kd (ii) Á’kkard 

Give one example of each 

(i) Disinfectant (ii) Tranquillizers  

1+1 

 

 

 

18. QSjkMs ds fo|qr vi?kVu ds fu;e dks fy[ksaA 
Write down Faradays law’s of electrolysis. 

1+1 
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19. [Pt(NH3)2 Cl2] ds T;kferh; leko;o dh lajpuk fy[ksaA 

Draw the structures of geometrical isomers of  [Pt(NH3)2 Cl2] 

1+1 

 vFkokvFkokvFkokvFkok  

 fuEufyf[kr ds IUPAC uke fy[ksaA 

Write down the IUPAC name of the following  

(i) K4[Fe(CN)6]    (ii) [Fe(H2O)6]SO4 

 

20. lecgqyd ,oa lgcgqyd esa D;k varj gS\ ,d&,d mnkgj.k nsaA 

What is the difference between homopolymer and copolymer? Give one 

example each. 

1+1 

21. D;k gksrk gS tc vEyh;Ñr iksVkf’k;e MkbØksesV ÁfrfØ;k djrk gSA 

(i) iksVkf’k;e vk;ksMkbM (ii) Qsjl lYQsV 

1+1 

 What happens when acidified potassium dichromate reacts with 

(i) Potassium Iodide (ii) Ferrous Sulphate 

 

22. ÁFke dksfV vfHkfØ;k dh v)Z vk;q vof/k 100 lsdaM gSA bldk nj fLFkjkad Kkr 

djsaA 

Find out the rate constant of a first order reaction whose half life period is 100 

seconds. 

2 

23 A + H2O                B vfHkfØ;k ds fy, nj fu;e gS nj α  [A]  Kkr djsa & 

(i) bldh vkf.odrk (ii) vfHkfØ;k dh dksfV 

For the reaction A + H2O            B the rate law is rate α [A]  find its 

(i) Molecularity (ii) Order of reaction  

1+1 

24. fuEufyf[kr ds tyh; vi?kVu ls ÁkIr ;ksfxd dk uke fy[ksa 
(i) lqØksl (ii) ekWYVksl (iii) ysDVksl  
Write down the hydrolysis product of the following 

(i) Sucrose (ii) Maltose (iii) Lactose  

1+1+1 

   

25. fuEufyf[kr dks iwjk djsaA 

Complete the following 

 

 ArN2
+ 

X
-
 CuCl/ HCl 1 

 ArN2
+ 

X
-
 CuBr/ HBr 1 

 ArN2
+ 

X
-
 CuCN/ KCN 1 
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 vvvvFkok Fkok Fkok Fkok (Or) 
 

 A, B ,oa C dh lajpuk fy[ksaA 
Write down the structure of A, B and C. 

 

                       NH3    Br2+NaOH       NaNO2   

 CH3COOH           A                     B                 C 

                      Heat                               HCl 

1+1+1 

26. fofy;elu fof/k ls fuEufyf[kr dk fuekZ.k dSls djrs gSaA 
How the following compounds are synthesized by Williamsons method.   

 

 (i) Ethoxy benzene  

(ii) 2- Methoxy-2-methyl propane 

(iii) 1 – Propoxy Propane 

1+1+1 

 vFkok vFkok vFkok vFkok (Or) 
 

 fuEufyf[kr dks iwjk djsaA 

Complete the following 

 

   OH 

 

           + 3Br2  

 

   OH                   Heat 

 

           + Zn  

 

   OH  

                Na2Cr2O 

                 H2SO4 

 

27. fuEufyf[kr dks iwjk djsaA 

Complete the following 

 

   Cl 

                           FeCl3 

          +Cl2       Anhydrous 

1 

   Cl  

                                   AlCl3 

          +CH3Cl2       Anhydrous 

1 

   Cl 

             ConcH2SO4 

                  Heat 

1 

28. varj laØe.k rRo fdls dgrs gSa\ nks varj laØe.k rRo dk bysDVªkWfud foU;kl 

fy[ksaA 

What are inner transition elements. Write the electronic configuration of two 

inner transition elements. 

1+2 

29. jksfLVax ,oa dSyflus’ku esa mnkjg.k lfgr varj crkosaA 
Differentiate between roasting and calcinations with example. 

1+1+1 

O 

O 

O 

O 

O 

O 
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30. HkkSfrd vf/k’kks”k.k vkSj jklk;fud vf/k’kks”k.k esa rhu varj dks Li”V djsaA 
Write down three differences between physical and chemical adsorption.  

1+1+1 

31. v"V Qydh; fNnz dh f=T;k dk vuqikr Kkr djasA 

Find out the radius ratio of an octahedral void. 

3 

32. Ekksyy mé;u fLFkjkad D;k gS\ ty ds 100gm ek=k esa 18 gm Xywdkst dh ek=k 
feykdj ,d foy;u cuk;k x;k gSA bl foy;u dk DokFkukad fcUnq Kkr djsaA 
ty ds fy, Kb = 0.52 Kg Mol

-1 

What is Molal Elevation Constant? A solution is prepared by using 18g of 

glucose with 100g water. Find the boiling point of this solution For water                  

Kb = 0.52 Kg Mol
-1

 

2+3 

 vFkok vFkok vFkok vFkok (Or) 
 

 pkj v.kqla[;d xq.kksa dk uke fy[ksaA  
gsujh ds fu;e dks fy[ksaA 
Write down the names of four colligative properties.  

Write down Henry’s Law. 

1+1+1+1 

1 

33. larqfyr lehdj.k nsaA 
Write down balanced chemical equation. 

 

 Cu  + H2SO4 (Conc) 1 

 FeS + Hcl 1 

 Na2S2O3+I2 1 

 H2S+SO2 1 

 Br2 +NaI 1 

 vFkok vFkok vFkok vFkok (Or) 
 

 fuEufyf[kr ds fy, vuquknh lajpuk,¡ fy[ksaA 

Write down the resonating structures of the following 

1+1+1+1+1 

 (i) CO3
2-  

(ii) SO4
2-  

(iii) NO3
-
  (iv) O3  (v) NO2  

34. fuEufyf[kr dh lajpuk fy[ksa 
Draw the structures of the following 

 

 
(i) Cycopropanone oxime  

1 

 
(ii) Cyclobutanone semicarbazide 

1 

 
(iii) Benzaldehyde – 2, 4 – dinitro phenyl hydrazone  

1 

 
(iv) Acetaldehyde dimethyl acetal 

1 

 
(v) Ethylene ketal of hexan – 3-one 

1 

 vFkok vFkok vFkok vFkok (Or) 
 

 fuEufyf[kr ifjorZu dSls djsaxs\ 
How will you bring about the following conversions. 

 

 
(i) Benzoic acid to benzaldehyde 

1 

 
(ii) Ethanal to 3-Hydroxybutanal 

1 
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(iii) Benzaldehyde to α - Hydroxy phenyl acetic acid 

1 

 
(iv) Benzoic acid to  m – Nitrobenzyl alcohol  

1 

 
(v) Propanone to Propane  

1 

 


